LEGEND

TR Transformer AR
CBt Circuit Breaker for T/L Feeder L FEARET I FH HE B 2
CBs Circuit Breaker for Intra-feeder TR L B as
DS Disconnector Vo % 2
DS/E | Disconnector with Earthing Switch PEHBSAR AT T e 2
CTt Current Transformer for T/L Feeder IETEAREIE 52 FH 28 i a
CTs Current Transformer for Intra-feeder PITP RIS A 52 FH 28 i a
CVT Capacitor Voltage Transformer 2T YR 2R A
LA Lightning Arrester WETE A
Existing Facilities JAVANA
ey MUSHA
To be replaced/installed by this Project
TR A B ER
LAx3 LAXx3
3¢TR x 1
20MVA CVTx3 CVTx3
3¢TR x 1
110kV/15kV
OkV/15 6MVA
110kV/70kV
LA
x3 3¢ DS/E x 1 3¢ DS/E x 1
CTsx3 CTsx 3 CTtx 3 CTtx3
1¢ CBs x 3 19 CBs x 3 1¢ CBtx 3 1 CBtx 3
disconnect l
30 DS x 1 30 DS x 1 3¢ DS x 1 3¢ DS x 1 CVTx3
110kV Bus
THE PROJECT DRAWING TITLE DRAW. NO. | PREPARED BY SHIMIZU

FOR
UPGRADING AND EXPANSION OF
SUBSTATION AND DISTRIBUTION NETWORK
IN THE REPUBLIC OF RWANDA

BIREMBO SUBSTATION SINGLE LINE DIAGRAM
BIREMBO ZEFfT HiRHEER

SHIMIZU
@ NIPPON KOEI CO.,

CHECKED BY
APPROVED BY MANITA N
DATE Nov.05, 2010

LTD




= .,_.L(;v;xs

!E_‘\_“' 3¢ DS/E x 1

z ‘,_.ngxs

¢— i 3¢DSEx1

) CTtx3 CTtx3
CTsx3
1¢ CBtx 3 oVTx3 CVTx3 1¢ CBtx 3 1olcBsx3
3¢ DS x 1 3¢ DS x 1 (? @ 30 DS x 1 30 DS x 1 3PS j L sposxi
39DSx1 \ ’j 39 DS x 1 36D x1 \ E 30 DS x 1
1¢ CBs x 3 F \ 1¢CBs x 3
LAX3 HEIJ LAX3 HE'J LAX3 HEA
3¢TR x 1 ‘w 3¢TR x 1 ’w 3¢TR x 1
= 15MVA o 15MVA ;o 15MVA LEGEND
1 110kV/15kV 77 ) 110kV/5KY S ) 110kV/15kV
TR Transformer LR
- = - CBt Circuit Breaker for T/L Feeder % AR W
4 L s CBs | Circuit Breaker for Intra-feeder I PR T 5 P U 5%
\ \ DS Disconnector WiRsaR
DS/E | Disconnector with Earthing Switch HEHIBRE TR 2
AN AN AN CTt Current Transformer for T/L Feeder LML F R A Vi
CTs Current Transformer for Intra-feeder PRI H e 2L i
e ) o) CVT Capacitor Voltage Transformer ST YRR SRR
LA Lightning Arrester T B
O )
To be replaced
ﬁ ﬁ SR G
1 Bus Existing Facilities
\ \ ‘ \ \ nXuX{ft
B | IS N E—— To be dismantled by this Project
AR RN RN AR UL U y this Frojec
Lj jJ Lf Lf Lf Lj Lj LLJ jJ jJ Lf Lf To be replaced/installed by this Project
TR Gk, Tk fi
THE PROJECT DRAWING TITLE DRAW. NO. | PREPARED BY SHIMIZU
FOR
HECK Y SHIMIZU
UPGRADING AND EXPANSION OF GIKONDO SUBSTATION SINGLE LINE DIAGRAM R (AR NIPPON KOEI CO., LTD
SUBSTATION AND DISTRIBUTION NETWORK |  GIKONDOZEER: E @it APPROVED BY |  MANITA &
IN THE REPUBLIC OF RWANDA DATE Nov.5, 2010




LEGEND LA - I‘ O =
TS l N
TR Transformer IR =
CBt Circuit Breaker for T/L Feeder R HE 2 ‘ M/
CBs Circuit Breaker for Intra-feeder IR as = b [
DS Disconnector VTR 25 #‘;ﬁ; 24.60
DS/E | Disconnector with Earthing Switch FEHIBE A1 T RR 2 ‘
CTt Current Transformer for T/L Feeder BEAERIE R AR A AR =S
CTs Current Transformer for Intra-feeder FITPNIE1 R A A A A i ge {Pf
CVT | Capacitor Voltage Transformer AT TR R A R - é;
LA Lightning Arrester i D S/EE IR 1] S D S/Egﬁi ,% - 7%, 1
FAU Feeder Adaptation Unit ST AR L A1 {
Existing Facilities D M
BERR A (i Bﬁ
To be dismantled by this Project CTt g CTt ¢ © o
eSS ‘ ]
To be replaced/installed by this Project 5
BT G fi TR (i ) <
| 39.70 L 45.20 | 250 | 380
_CVT. i CBR+ ¢ @ n CBt &1 9 oy DS ‘ |
13.35 13.00 | 13.35 13.35 s T X 1‘""" 7 ‘fﬁfﬁs biﬁ | Jéi %} Sl
J S W W A W N = :
DS DS DS DS [ D Bl |
A . ava Pl I B e N Vs O S = b L VA % T [V S A
— i i T ‘ i i i T | ‘ = -+ 5
% T A PRy [ i =t A T o | i o 5 98 = = 1] 1 I
— =~V = il ‘
sl SISl sl S| s S S S S S S S st s —p/ B o
@ ] i3 i3 @ @ @ @ @ i3 @ i3 @ ® @ ‘ : CB N
CVT & T
Com f
o bl IDS | bl IV ol Do) - DSI A S|
L o B a8 ] o BB ok |0 B A | o0 BB
— \ 1 1 1 i 1 i i i — \ \ — ‘
. \ \ | \
ol \ / N\ \ | | N/ \
5 : CBs Al ob : CBs' - NLE [JE : CB&‘LB 1 CBt: LJII Eé &0 CBtN xm
+ CTs¢—§— ¢ + CTs ¢ —§— 4 4 CTs¢—§— 4  CTt{ oo
S ; ] 2 i J 2 [ |
+ LA St -—h—-t— + LA ot + LA —H-—h— -t 2
| : | : | "
1A %7”4\%1 | N i I L KN 4,,4‘@1 | q
I e : i SO osE g
o l I o \ \ o ! I 3
— T *”f;!f;*j - e JT’** ~ TR | }*;*j o
) ~‘, \, j‘ -
T S R T S R R o
TR1 TR2
[ £
o /
\ ] & / _
2 .
FAU2 FAUT g 7 Yhepe/ 3
9 A A" =)
T 1/ 7 \
ob ‘ Le(% 2.70 2.70
s Wit o)
/ / -
THE PROJECT DRAWING TITLE DRAW. NO. | PREPARED BY SHIMIZU
FOR SHIMIZU
UPGRADING AND EXPANSION OF GIKONDO SUBSTATION PLAN OF OUTDOOR SWITCHGEAR (1/250) | CHECKED BY : RN NIPPON KOEI CO.. LTD
SUBSTATION AND DISTRIBUTION NETWORK |GIKONDOZER Es M THEEER APPROVED BY |  MANITA &/
IN THE REPUBLIC OF RWANDA DATE Nov.05, 2010




View A - A

m DS I DS I DS i DS L DS DS | | sl
| 200 | 13.35 13.00 13.35 13.35 13.00 13.35 | Pio | 6.10
| ! \ 39.70 \ ! ! 45.20 ! ! !
\ \
|
| | |
| [ |
View B - B |
i ’_L /\ 8
i IL ] A : ﬁ\é W 8| = LEGEND
‘ 7 Jr I TR | Transformer B
‘ | T I I CBt Circuit Breaker for T/L Feeder TR W 25
i [ ‘ | i ] CBs Circuit Breaker for Intra-feeder PTAIELES H Llias
i 7.80 250 | 250 | 2.00 | 2.00 4.20 ! 4.20 ‘ 4.20 ! DS D?Sconnemr - - - Wi 5 :
\ \ \ 520 | 640 I 520 DS/E | Disconnector with Earthing Switch B 17 B 45
| CTt Current Transformer for T/L Feeder SEFEMREIEE I FH R AR AR
T R C H LA CTS C BS D S D S . . CTs Current Transformer for Intra-feeder PN 5 2 e
to Mont Klgall SS CVT Capacitor Voltage Transformer ST PRI R A AR
- N B LA Lightning Arrester BT A
P FAU Feeder Adaptation Unit =7 AR TV
i — Existing Facilities
lew e,
BGdl ]
| | BN To be dismantled by this Project
8 A ‘ . 3 ES TR T
l ] I ® To be replaced/installed by this Project
I ‘ ‘ TR Gkl A
* ﬁ i,
| _L 11
300 | 350 [ 3.00 6.20 \ 8.0 N 4.20 4.90 } 4.90 5.40 11.30]
! 11.50! 8.40 8.40 11.10 ! 820 |
¢ LA CVT DS CTsCBs DS DS CBt CTt DS W-I-E’DLA
o CC .
Jabang SS to Mont Kigali SS
\\ |
i p— i F
ViewD - D |
I + ‘\ v a 1
1 I
_!_ i
i 2.90 l 3.50 T 2.50 l 2.50 l 5.10 l 3.00 i 2.00 i 4.20 8.40 ] 4.20 l 4.90 l 4.90 _l_
LA CCPD DS SI SI  CTsCBs DS DS CBt CTt DS
& WT
THE PROJECT DRAWING TITLE DRAW. NO. | PREPARED BY SHIMIZU
FOR
UPGRADING AND EXPANSION OF GIKONDO SUBSTATION SECTION OF OUTDOOR SWITGHGEAR (1,/250) CHECKED BY |  SHIMIZU @NIPPON KOEl CO.. LTD
SUBSTATION AND DISTRIBUTION NETWORK | GIKONDOZEFRT E4HHaRACE itk (1/250) 55-07 APPROVED BY |  MANITA & v
IN THE REPUBLIC OF RWANDA DATE Nov.05, 2010




GASOGI KABARONDO

LAx3 LAx3
CVTx3 CVTx3 LECEND
C—{ ‘ X ‘—{ ‘ X TR Transformer ZEE
- = CBt Circuit Breaker for T/L Feeder PR A R AR

CBs Circuit Breaker for Intra-feeder FT N1 T Lo i e
DS Disconnector W7 %

f\_‘ h f\_‘ I DS/E | Disconnector with Earthing Switch HEH D7 25
CTt Current Transformer for T/L Feeder LRI G S iR

3¢ DS/E x 1 3¢ DS/E x 1 CTs Current Transformer for Intra-feeder PP IEI i & R ZE i e

CVT Capacitor Voltage Transformer a7 YRR R
LA Lightning Arrester JHEER A

@  CTtx3 (O  CTtx3

16 CBtx 3 16 CBtx 3
To be installed by this Project
Bk ER
3¢ DS x 1 3 DS x 1 CVT x 3 o
110kV Bus
\X 3¢ DS x 1 15kV Bus
3¢ CBs x 1
CTsx3

30TR x 1
10MVA

110kV/15kV

N\
N

THE PROJECT DRAWING TITLE DRAW. NO. | PREPARED BY SHIMIZU
FOR
UPGRADING AND EXPANSION OF MUSHA SUBSTATION SINGLE LINE DIAGRAM CHECKED BY SHIMIZU @N\PPON KOEI CO.. LTD
SUBSTATION AND DISTRIBUTION NETWORK MUSHAZ B Higitsx $5-08 APPROVED BY MANITA &/ ’
IN THE REPUBLIC OF RWANDA DATE Nov.05, 2010




To Gasogi SS
_——1

11.0 | 9.0 | 11.0 |
| 2.0 2.5 | 3.0 | 2.5 | 3.0 | | 3.0 | 25 3.0 | 2.5 ! 2.0 |
‘  To Kabarondo SS —
CVT \
| St [ I — +
LA CVIT| DS/E CBt CTt DS DF CTt CBt DS/E GQVT LA
TQWSY ‘
400m to Next T - N A ]
| 10; 19 400m to NeXt T
/’r//.«:j | Z ‘ i ‘ %Fﬂ ‘ ! ! ‘ kﬁﬁ ‘ ‘ ower
— | | | | | | | I i
‘ | | | |
/ | ‘ | | | |
g Deadend Type Tower : o 0 %4‘? @ 5@/
A ‘ | :LL 115 - i ‘
é L TR ] LA CBs CTs |D$ - “
a ° - iy FAU b
& ﬁ» § I @—@ 3 © ‘ @:D H H (0 :% T
ol | T | g | ::m |
ﬂt j‘ = : ; % @ Hitf ‘T’ ‘ = il il 0 m
an _TC\H | R ‘ T o —f—— e 9 @
B b | ‘ 57 5 o ¥
| | | 0 I | : |
T — —9—
|
o ,,
<t ~ N |
Existing Suspension Type|Tower ' > a ' T |
_'Et=| | ‘\ Existing Suspension Type Tower
Lt et L= =S 2S5 \
£ £ =il ﬁ:l N \
QE 9 { LR Existing outdoor ‘\
q:)’b ) N [ ] 70kV Switchgear ‘\
3 1 [H 1 \
£ |
7] ] “
2 = | Existing Facilities
: | I e e
\ 1N \ To be installed by this Project
B3 15] 4, | [ \ Hrax ez fi
| \
£ ‘
é |
é i -
£ U ] LEGEND
g 8
@ l TR Transformer R
H CBt Circuit Breaker for T/L Feeder LB ARIA] I A
CBs Circuit Breaker for Intra-feeder PIT PR A Lo Wi
DS Disconnector B %
DS/E | Disconnector with Earthing Switch FEHOBR AT T K 2
CTt Current Transformer for T/L Feeder LRI A g T A g
Guard House CTs Current Transformer for Intra-feeder FIT PN [ 3 ) - R 2 i o
= CVT Capacitor Voltage Transformer LT YRGS R
X LA Lightning Arrester WEE &
FAU Feeder Adaptation Unit r—T ARG
X
| 20.0
THE PROJECT DRAWING TITLE DRAW. NO. | PREPARED BY SHIMIZU
FOR CHECKED BY SHIMIZU m
UPGRADING AND EXPANSION OF MUSHA SUBSTATION OUTDOOR SWITCHGEAR LAYOUT (1/250) NKH NIPPON KOEI CO., LTD
SS—-09 APPROVED BY MANITA ’
SUBSTATION AND DISTRIBUTION NETWORK | MUSHAZER ESMESmER (1/250) &/
IN THE REPUBLIC OF RWANDA DATE Nov.05, 2010




FUTURE

A
|
e
\
Rﬁ |
|V \
11 CVTx3
Lij rij‘\
) | L1
\
-~

\
(N CTtx3

;
\£

\ 1 CBtx 3

1

\ 3¢ DS x 1

l ********* 110KV Bus

KABARONDO
A

LAx3
® | CVTx3

LIl
3¢ DS/E x 1
CTtx3
\1 1¢ CBtx 3
\ (3o DS x 1)

3GpTR x 1
BMVA
110kV/15kV

LEGEND
TR Transformer PR
CBt Circuit Breaker for T/L Feeder JETERRE] A HE TR
DS Disconnector W i

DS/E | Disconnector with Earthing Switch

FEHOBR AR BT I 2

CTt Current Transformer for T/L Feeder

SRR P A A 2R

CVT Capacitor Voltage Transformer

2 T B A

LA Lightning Arrester

HER A

To be installed by this Project

BT
Future Extension
fkatm

15kV Bus

THE PROJECT
FOR

UPGRADING AND EXPANSION OF
SUBSTATION AND DISTRIBUTION NETWORK
IN THE REPUBLIC OF RWANDA

DRAWING TITLE

DRAW. NO. | PREPARED BY

SHIMIZU

RWINKWAVU SUBSTATION SINGLE LINE DIAGRAM
RWINKWAVUZ BT B RIGHIRE

SHIMIZU
@ NIPPON KOEI CO.,

CHECKED BY
SS—10 APPROVED BY MANITA N
DATE Nov.05, 2010

LTD




LEGEND

TR Transformer IR

CBt Circuit Breaker for T/L Feeder PR A B PR TR

CBs Circuit Breaker for Intra-feeder PRI Lo B a

DS Disconnector 7 &

DS/E | Disconnector with Earthing Switch FEHBE AR AT I 2

CTt Current Transformer for T/L Feeder PEERRIEI B A AR i g
CTs Current Transformer for Intra-feeder PP IE] 3 FH & 2 A8 i o
CVT Capacitor Voltage Transformer LT g S
LA Lightning Arrester HEE A

FAU Feeder Adaptation Unit T ARG R

Road (widening, leveling, and necessary
surface treatment by RECO)

Existing Facilities

BERR % i
To be replaced/installed by this Project
Braxax i

Future Extension
kAt

b X
LA CVT DS/E CBt CTt (pS) SI SI'(DS) SI' (CBstA~ MTR
i (CTs) l
5 - | | . . . 1 1
H H H H H /,_/@1_4;- gg 0] -+ ot £ & = I
— — C:ﬂ’/// } —— o
l— e [é}—v:} gg} 0 ot et fet f—— >
— i = | i E: u
\\@‘TQ o ol & otk @ o -
—f IE ]
30 | 30 | FAbs| | |3 20 | 25 25 20 30 | 25 | 20 | 40 g
‘ +5 ‘ 90 ‘ s
Road
—[g L[ | L B For Future Extension
) CVT) | H
0 o 7 03 /
15kV Switchgeﬁr Room t Entrance
Existing Control House | -|Control Room -
- Bed Roomt &
== jl N
——|||[f 0
|- avaiory
- L ————————— 4
24.0 1
| 30.0 | 36.0 20
\‘ j‘ -
THE PROJECT DRAWING TITLE DRAW. NO. | PREPARED BY SHIMIZU
FOR
UPGRADING AND EXPANSION OF RWINKWAVU SUBSTATION OUTDOOR SWITCHGEAR LAYOUT (1/250)| CHECKED BY | SHMIZY | /2NN \iPPON KOEI CO.. LTD
SUBSTATION AND DISTRIBUTION NETWORK | RWINKWAVUZER; B EEER (1/250) APPROVED BY |  MANITA &/
IN THE REPUBLIC OF RWANDA DATE Nov.05, 2010




THE PROJECT DRAWING TITLE DRAW. NO. | PREPARED BY |  FUKUI

FOR
UPGRADING AND EXPANSION OF Distribution Network in Huye : Route Map CHECKED BY |  FUKUI
SUBSTATION AND DISTRIBUTION NETWORK TAIHEEM : IL— R HDS-01 APPROVED BY MANITA
IN THE REPUBLIC OF RWANDA

(AN
NKH NIPPON KOEI CO., LTD
&/




PUMPAGE HOPITAL

POSTE
BUTARE NORD

VCB*2,LBS/F(16A)*1

JW

e

LABOPHAR

DIRECT*1,LBS/F(6A)*1 LBS*4,LBS/F(16A)*1

UNR
DIRECT*1,LBS/F(25A)*1

Kigoma
30KV
POSTE POSTE
P HOSPITAL 1 NGOMA
: VCB*3 VCB*2,LBS/F(16A)*1
VBN NENSNENS
) } } 30KV j} 1
250kVA
HOSPITAL 2 MISSION
LBS*2,LBS/F(25A)*1 LBS*2,LBS/F(10A)*1
i Rijlls
J 160

AERODROME
LBS*3,LBS/F(BA)*1

PRISON

SORWAL

LBS*2,LBS/F(16A)*1 DIRECT*1,LBS/F(10A)"1

250kVA

I 1T, gml]! WﬁT
25OkVﬁ 200kVA 75kVA 250KVA 200kV
CULPHAMETRA TELECOM BTARE CENTER BUYE 1 BUYE 2
LBS*2,LBS/F(6A)*1 LBS"2,LBS/F(10A)*1 LBS*4,LBS/F(16A)*1 LBS*2,LBS/F(16A)*1 LBS"2,LBS/F(16A)*1
I I e 53l
0 H 0
YO . ] s
] -] |
100kVA 200KVA 400kVA 400KVA—
CYARWA AIDR GROUPE SCOLAIRE
DIRECT*1,LBS/F(6A)*1 LBS*3,LBS/F(16A)*1 LBS*2,LBS/F(16A)*1
DeF Il 5l
Legend
| ]
100kVA 250kV/
RMU.  MV(30kV) Cable
/ / LV Cable
LEGEND RANGO (Existing House) KABUTARE [ / D'S(t;ﬁ’:;ggrizi]fger)
— g DIRECT*1,LBS/F(6A)*1 DIRECT*1,LBS/F(10A)*1 j H}P _
VCB | Vacuum Type Circuit Breaker | EZEEHT#% DeF Cuteout switch with fuse 4 . Connection
LBS | Load Break Switch BB l ﬁj Vacuum Circuit Breaker f / [
LBS/F | Load Break Switch with Fuse | 72— Xt &#1BARA% . 14 tggg g;ggt gmgg . oate
DIRECT| Direct Incoming Feeder ANAT71—5 (E#E)
200kVA Transformer 30/0.4 kV
THE PROJECT DRAWING TITLE DRAW. NO. | PREPARED BY FUKUI
FOR
UPGRADING AND EXPANSION OF Distribution Network in Huye : Single Line Diagram CHECKED BY FUKUI ﬂ NIPPON KOEl CO.. LTD
SUBSTATION AND DISTRIBUTION NETWORK TAIHEEM  BEREgR HDS-02 APPROVED BY MANITA \\NrKﬂ ’
IN THE REPUBLIC OF RWANDA DATE Nov,05, 2010




o |
D.B. RM.U. - L R.M.U. _ =
% CABLE|PIT E % (ABLE PIfT| = % CABL Ek;— H=210
T L — T L — >~ T L -
% ] % ] % RM.U.
- L l,| DB - 11 |pB
3 Panels  (750kg) L 3 Panels (750kg) 1L
— E— 2) POSTE NGOMA — 3) MISSION — —
W /@’ 553 PRISON W N %8; BUYE 2
(7) POSTE BUTARE NORD
(10) GROUPE SCOLAIRE
— (12) TELECOM —
(14) HOSPITAL 2
17) CULPHAMETRA
5 Panels (1250kg) / (17) / /
(1) BUTARE CENTER RM.U. 2 Panels  (500kg) ‘ ‘
(15) LABOPHA , (6 SORWAL , R.M.U. , M.
4Pancls  (1000ke) IR (11) KABUTARE(EAVX) 'R 'R
(4) AERODROME @dokg) 518; POMPAGR HOSPITAL 8dokg) @dokg)
(19) AIDR T [ FL | 21) CYARWA _ T T ‘ FL. - T T ‘ [FL _
CGL (16) UNR (WITHOUT D.B.) __CGL CGL ||
) (GE ) L Wik
B | | | | B
TYPE A TYPE B-1 TYPE B-2
T 1 o
T T T T T 1
T = ! i
CABLE E — -
7 =ik
R.M.U.
RM.U g
JdapilEprT E TR Tr_ans_former EESH
= . = D.B. Distribution Board | BZE#
N A ::1 oB R.M.U. [Ring Main Unit ENBARISRS
3 Panels  (750kg) 3 Panels  (750kg)
(9) BUYE 1 /@ N (13) POSTE HOSPITAL 1 — /@ -
L/
R.M.U. R.M.U
TR
(8(0kg)
- T T FL 1 [FL ]
| |
= _
TYPE B-3 TYPE B-4
THE PROJECT DRAWING TITLE DRAW. NO. | PREPARED BY FUKUI
FOR Huve Distributi T - . - .
ye Distribution Network : Building Planning for Ring Main Unit (RMU) CHECKED BY FUKUI ﬂ
UPGRADING AND EXPANSION OF 1 R_9 R_ _ !
SUBSTATION AND DISTRIBUTION NETWORK | o s RMU@E%%‘?TA'Z;’ o aé‘ffﬁ? 5t HDS-03 | APPROVED BY |  MANITA WK NIFPON KOEE €O, LTD
IN THE REPUBLIC OF RWANDA - . ype A BT B4 DATE Nov,05, 2010




RUSORORO Il

THE PROJECT DRAWING TITLE DRAW. NO. | PREPARED BY FUKUI

FOR FUKUI
UPGRADING AND EXPANSION OF Distribution Network in Kigali : Route Map CHECKED BY @NIPPON KOEl CO.. LTD
SUBSTATION AND DISTRIBUTION NETWORK Kigali BERE#8 : JL—FE KDS-01 APPROVED BY MANITA & N

IN THE REPUBLIC OF RWANDA DATE Nov,05, 2010




MV POLE TYPE (1/2)

Pole Type M1

S

Pole Type M2

trait Strait (400m)

=) = o . — TIT

4

[ -
ot

QT///

i
W

¥—y————1

I
b
I
QUANTITY QUANTITY QUANTITY
ITEM NO. MATERIAL DESCRIPTION QTY ITEM NO MATERIAL DESCRIPTION QTY ITEM NO MATERIAL DESCRIPTION QTY
CROSS ARM,L-75*75*6*2400 ‘ CROSS ARM,L-75*75*6*2400 CROSS ARM,L-75*75*6*2400
! (HOT DIP GALVANIZED) ! | ! (HOT DIP GALVANIZED) 2 ! (HOT DIP GALVANIZED) 2
CROSS ARM BRACE L-50*50*5*1660 CROSS ARM BRACE L-50*50*5*1050 CROSS ARM BRACE L-50*50*5*1050

2 (HOT DIP GALVANIZED) ! ‘ 2 (HOT DIP GALVANIZED) 2 (HOT DIP GALVANIZED) !

3 BOLT,NUT,WASHER M16 2 | 3 BOLT,NUT,WASHER M16 6 3 BOLT,NUT,WASHER M16 6

4 ARM TIEBAND 1 4 ARM TIEBAND 4 ARM TIEBAND 2

5 PIN INSULATOR 3 5 COMPOSITE STRAIN INSULATOR 6 5 COMPOSITE STRAIN INSULATOR 6

6 PREFORMED INSULATOR TIE 3 6 POST INSULATOR 1 6 POST INSULATOR 1

7 SUPORT FOR OVERHEAD GROUND WIRE 1 7 PREFORMED INSULATOR TIE 1 7 PREFORMED INSULATOR TIE 1

8 CONCRETE POLE 12m 1 8 EYE BOLT/NUTM16 6 8 EYE BOLT/NUT,M16 6

9 PREFORMEDDEAD END GRIP 70mm2 6 9 PREFORMEDDEAD END GRIP 70mm2 6

10 THIMBLE 6 10 THIMBLE 6

1 SUPORT FOR OVERHEAD GROUND WIRE 1 [SUPORT FOR OVERHEAD GROUND WIRE
12 T&ONCRETEPOLE12m 1 12 STAY 1
13 CONCRETE POLE 12m 1/

)

Pole Type M3

Turning

[

\ |

l

b/

|
5
\

=

.
1
;
U
f

D

QUANTITY

ITEM NO

MATERIAL DESCRIPTION

QTY

CROSS ARM,L-75*75*6*2400
(HOT DIP GALVANIZED)

CROSS ARM BRACE,L-50*50*5*1050
(HOT DIP GALVANIZED)

BOLT.NUT WASHER M16

ARM TIEBAND

COMPOSITE STRAIN INSULATOR

POST INSULATOR

PREFORMED INSULATOR TIE

EYE BOLT/NUT.M16

PREFORMEDDEAD END GRIP 70mm2

THIMBLE

@ (W fw |» o o N o

SUPORT FOR OVERHEAD GROUND WIRE

STAY

CONCRETE POLE 12m

Pole Type M4
Start Point

i
+

SUBSTATION AND DISTRIBUTION NETWORK

THE PROJECT DRAWING TITLE

DRAW. NO.

PREPARED BY

FUKUI

FOR
UPGRADING AND EXPANSION OF

FHYTEER  DEREE FHER0/2)

IN THE REPUBLIC OF RWANDA

Kigali Distribution Network : MV Distribution pole with Support Structure (1/2

CHECKED BY

FUKUI

KDS—02(1/2)

APPROVED BY

MANITA

DATE

Nov,05, 2010

7N
NKY NIPPON KO
&

CO.,

LTD




MV POLE TYPE (2/2)

Pole Type M6

Transformer
(Terminal)

Pole Type M7
Transformer+Divergent

Pole Type M5
Transformer

. _Maan
oy i
0 0 | D 0
L im) C ] m [ im)
— o e == E = ) — SR — o
L T T T T T T 11 L T T 11 Lp { T T T T T T T 11
0 o g ‘ o o Mo o o
‘ _M T
oo d
Overhead Gorunding Wire | | |
— E[H - — ——— — E = [ = Ha— — EH - = — ———
[ ‘ 1 [ \ [ \
| , [ [
L N e ; 4 S A i a S A MV Line
— = ) ——t3+— MV Line — = &) = =+— MV Line — = ) = =
~ 2 ~ ~
[ | | |
LA LA - LA
— = = = — — = * = — ok : = ——
| o | 2 | o | | o |
r—T-T-1 r=t-7-1 r=T-7T-1
— = F = = — — o F = 2 — — = = = —
I [ 1 [ R T o (R
! . ISW . | ISW | . | ISW
_ — . - L _ — — — L, . e — s
L_L_1_1 1 L_Ll_1_1 L_L_1_1
\
\
r-——-—- il r-———-- Bl r-———-- 1
I | | I ! |
| L TR | LA | L
—F .,‘. — — — = }— —f — - — = —— g J— —F — — — la —
|
\ \ \
! [ |
\ \ \
QUANTITY | QUANTITY | QUANTITY |
ITEM NO. MATERIAL DESCRIPTION QTY ITEM NO. MATERIAL DESCRIPTION QTY. ITEM NO. MATERIAL DESCRIPTION Q'TY
SUPPORT C-100*50°6"3400 . ‘ SUPPORT C-100*50°6"3400 . ‘ SUPPORT C-100"50"63400 y ‘
(HOT DIP GALVANIZED) | (HOT DIP GALVANIZED) | (HOT DIP GALVANIZED) |
2 BOLT ,NUT,WASHER M16 22 2 BOLT,NUT,WASHER M16 22 2 BOLT,NUT,WASHER M16 27
3 COMPOSITE STRAIN INSULATOR 6 ‘ 3 COMPOSITE STRAIN INSULATOR 3 ‘ 3 COMPOSITE STRAIN INSULATOR 9 ‘
4 EYE BOLT/NUT,M16 6 | 4 EYE BOLT/NUT,M16 3 | 4 EYE BOLT/NUT.M16 9 |
5 PREFORMEDDEAD END GRIP 70mm2 6 | 5 PREFORMEDDEAD END GRIP 70mm2 3 | 5 PREFORMEDDEAD END GRIP 70mm2 9 |
6 THIMBLE 6 ‘ 6 THIMBLE 3 ‘ 6 THIMBLE 9 ‘
7 SUPORT FOR OVERHEAD GROUND WIRE 2 7 SUPORT FOR OVERHEAD GROUND WIRE 2 7 ISUPORT FOR OVERHEAD GROUND WIRE 3
8 LIGHTNING ARRESTER 3 8 LIGHTNING ARRESTER 3 8 LIGHTNING ARRESTER 3
9 SWITCH WITH FUSE 1 9 SWITCH WITH FUSE 1 9 SWITCH WITH FUSE 1
10 TRANSFORMER 1 10 TRANSFORMER 1 10 TRANSFORMER 1
11 CONCRETE POLE 12m 2 11 CONCRETE POLE 12m 2 11 CONCRETE POLE 12m 2

THE PROJECT
FOR
UPGRADING AND EXPANSION OF

SUBSTATION AND DISTRIBUTION NETWORK

IN THE REPUBLIC OF RWANDA

(R
WK NIPPON KOEI CO.,
&

DRAWING TITLE DRAW. NO. | PREPARED BY FUKUI

Kigali Distribution Network : MV Distribution pole with Support Structure (2/2 CHECKED BY FUKUI

£HYTHERESE  hERER B0/ KDS—02(2/2) | APPROVED BY MANITA
DATE Nov,05, 2010

LTD




LV POLE TYPE

Pole Type L1

Start Point
Terminal

Pole Type L2
Strait

Pole Type L3

Divergent

Pole Type L4
Strait (Strain)

Pole Type L5

Turning

T>_*\ - - T - - - — - - - - - D ———
- /
~
|
# FH

|

|

|

I | I I
I | I I
| | L | |
QUANTITY QUANTITY QUANTITY QUANTITY QUANTITY
ITEM NO. MATERIAL DESCRIPTION QTY ITEM NO. MATERIAL DESCRIPTION Q'TY ITEM NO. MATERIAL DESCRIPTION Q'TY ITEM NO. MATERIAL DESCRIPTION Q'TY ITEM NO. MATERIAL DESCRIPTION Q'TY
1 SUPPORT FOR ABC CABLE 1 SUPPORT FOR ABC CABLE 1 1 SUPPORT FOR ABC CABLE 1 1 SUPPORT FOR ABC CABLE 1 1 SUPPORT FOR ABC CABLE 1
2 BOLT,NUT,.WASHER M16 2 2 BOLT,NUT,WASHER M16 1 2 BOLT.NUT,.WASHER M16 2 BOLT,NUT,WASHER M16 1 2 BOLT.NUT,.WASHER M16 2
3 ARM TIE BAND 3 ARM TIE BAND 3 ARM TIE BAND 3 3 ARM TIE BAND
4 STAY 1 4 STAY 1 4 STAY 1
5 CONCRETE POLE 9m 1 4 CONCRETE POLE 9m 1 5 CONCRETE POLE 9m 1 4 CONCRETE POLE 9m 1 5 CONCRETE POLE 9m 1
6
THE PROJECT DRAWING TITLE DRAW. NO. | PREPARED BY FUKUI
FOR
UPGRADING AND EXPANSION OF Kigali Distribution Network : LV Distribution pole with Support Structure CHECKED BY FUKUI @ NIPPON KOEI CO LTD
SUBSTATION AND DISTRIBUTION NETWORK |¥#UMEREM  EEREH %HH KDS—-03 | APPROVED BY |  MANITA & ’
IN THE REPUBLIC OF RWANDA DATE Nov,05, 2010




& -6
SEEH



BH 61 INEEHYRE

B ¥ £ 0 %9 5 =

Bl 0034 AULL(F 1 v i 6002 Moday [enuuy OOSYMY ® 003 | 8
Bl 003y T - T v 4ad MIIAYIAO D144V L NLS WILSAS HAS z913 | £
Bl 0034 - 14 134 dad AD0H0dOL Vavos | 9
EUEES gay —Ac L iad dad 30URJE3|D JUBWSS3SSY 10edw| [eluswuonAug | g
EUEES 0034 —Ac T iad 199X3 aAnH ur sjooyds Joisi| v
EUEES 0034 —Ac 1 v L3 ¥2/90/0T0Z ABIN pUB 600 J9GWSAON 104 Loday suonessdo Buiyoledsiq [euoneN| €
VA4NININ 199x3
B u1 Juswyredag ABojosoa1a|N - 8z A4 9 PO (918 Au20J3A pUIM ‘Alpiny ‘ainyesadwa | ) eleq [ea1bojoloadN | 2
B ananselyu| Jo Ansiuy - 07 v pion 0T0Z aunr uo weiboid pue 108foid J010as ABiaug | T
[iasE ] BT | se2F @ (54m) Ko —A =
v M| HRNEE L ey | o | Ny . gl | BILSSRINM SO [ B | v qp [BS | i W| H M prd % @ ok T &
H 2z B 21550102 ~H 11 i 21 550103
TN F R H 82 HOosy0100 ~ H8H =010z | W [ § B W M Cox) |¥ % % EWFL a | % =
o x ) FHEEG (B 5 o §F | FRYshmEUEnENDBETONVRBEESL o | B F B LacoL]| ¥ W
) HTTH T €2 Aok
1Y 0 & B % I
T Ze S Ak et e [ 27 o it 8 o B I od o F|EFRESEEX|E B & T

¥




	付属資料
	資料-5 概略設計図
	資料-6 参考資料




